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Parsons, Spring 2024
Quizl 20245 5HA21H

Part I

1.) What area(s) (1, 2, 3, 4, 5, etc. or some combination of them) describes the LOSS (decrease in CS) to the
Consumer from an Import Tariff?

2) What area(s) (or some combination of them) describes the GAIN (increase in PS) to the Domestic Producer
from an Import Tariff?

3) What is the quantity of imports under free trade (before the tariff is imposed)? (Provide a numerical

answer.)
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Graph for Problem 1: Tariff (small country) .
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Part II. KOM Problems

Zen(
1.) (HHE) Home's Demand Curve for Wheat is p ;S
D =200~ 20 x P e Lagsi T T i
- 00 B () =
’10 = 4—0‘0

It’s supply curve is

S 80+20xPK—P\—“ C:j
¢= Qo +20(3) % go+ 40

What is the initial equilibrium (no-trade) Price and Quantity in Home if they do NOT trade with
Foreign? SE & "B Z1iTbhwilié. HECE T 2 HEHHIE & 8tz < Sk 3 5,
2.) (44E) Foreign’s Demand curve is D 23S

D*=180-20xP ’g’(o/wf i Q&Tgof)
o0 = 50 f
e 7
Gz (SOt domE !‘}0 4
What is the xmtlal Price and Quantity in Foreign if they do NOT trade with the Home country?
HE(Home) & ®5 #1Th ik Wiié. SHEIC 3 2 MHSHHTIHE & Btz v < Sick 3,

And Foreign’s Supply is
S*=80+30xP
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3.) If the two countries can trade, at what International Price will they trade? Z @ 2 ZEBHEE 21T
&, EHERiE IR e 3 L 522 40/0
D ths 2 OO 2o L Bies

@ () e 0 +30F
§f“51: g()f.'}offg T

i asido [ 107 .
_2/2/0 Z 70/’

227 f;/ /: ¢ 2 .44

@o ,_/?/_,



Parsons, Spring 2023

Quiz 1 (second one)

May 30th, 2023

sw’
Is the world price BEFORE the tariff.
Sw?

Is the world price AFTER the tariff.
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1.) What area(s) (1, 2, 3, 4, 5, 6, etc. or some combination of them) describes the LOSS (decrease in CS)
to the Consumer from an Import Tariff (remember, this is the Large Country case)?#HEHE DO RE D o
A?4+5+6+7+8

2) What area(s) (or some combination of them) describes the GAIN (increase in PS) to the Domestic
Producer from an Import Tariff? ZEEEDT 4 v ?



3) What is the quantity of imports under free trade (before the tariff is imposed)? (Provide a numerical
answer.) BB A 2 fifi A £ ? 200(total demand at price = $5) — 70 (domestic production when p=$5) =
130 (imported amount)

4) What is the quantity of imports after the tariff is imposed? (Provide a numerical answer.) BiBi#& o

s A 0B 180-100 = 180

5) How much is the tax revenue (please provide a numerical $ figure) is collected from the tariff?  BE#H
IRA? ($T) 2times80=5160

6) What is net gain or loss to the country overall? Please provide a specific $ figure. EHD % v F o

A ? ($T) The answer is $55. Area 13 minus area 6 and minus 8. We may need to discuss this in
detail. So, see you next week!

Write answers here:




